MIFROBRERR

=
ax

BIEHR X1

m) m) m) m) m)
€085 %%%3_18_1 e /Iy %Ei%ﬁ R3.7.14 | 44248 | 25.1 %%5 nd 3 4
6086 g%%mq BRI/ %Ei%ﬁ R37Z13 | BEM | 263] %2 nd 3 | 4
€087 %%%2_1_1 BAR/ %Ei%ﬁ R3.7.29 R | 300 %%5 nd 3 4
€088 gg%zg BN %Ei%ﬁ R3.7.5 6-3 25.0 %%5 nd 3 4
€089 2523—12—1 hE /N %Ei%ﬁ R3.7.8 2-4 25.0 %%5 nd 3 4
€090 %%%_1 TAE/N %Ei%ﬁ R3.7.6 2-2 247 %%5 nd 3 4
091 %%%2_19_1 RE/N %Ei%g R3.7.13 | tREEHE | 270 ;ﬁs nd 3 4
e092 %%%3_25_1 [N %Ei%g R3.7.8 3FE14A | 254 ;ﬁs nd 3 4
093 %%%4_2_1 FwE %Ei%ﬁ R3.7.9 6EE1#A | 25.7 %%5 nd 3 4
€094 %EEI =00 %Ei%ﬁ R3.7.9 2-2 245 %%5 nd 3 4
095 ;%qu AN %Ei%ﬁ R3.7.6 3-4 2438 %%5 nd 3 4
€096 i%%e— s =[N %Ei%ﬁ R3.7.6 6-1 25.0 %%5 nd 3 4




MIFROBRERR

B BIEHER X1
S . HIE | BIE
S BERME | qeme |EB[_MA | o | sy | IV | 250 | 3
ES R EE s 27 gRE | MEER oy | Tk | 0 e | N | G U 1 B R =
e/ |y | e | (K] T T
m) m)
ZERX BHEEER ZBH% 125
€097 | o o EEN | pmmaia| R37.12 = 26.5 g nd 3 4
ZERX BEEER _ 125
€098 | o ms ¢y ML |paais| R3S 6-2 24.3 g nd 3 4
. ZERX - BEHEEER | o 125
j038 | ety g A mE%==| RT9 BRE | 251 e nd 3 4
. ZER . HEZRER _ 125
: ZERX 5 BEEER _ 125
j040 | Feze 16 THET | pmxea| RST9 1-4 27.4 g nd 3 4
: ZEKX " BEHEEER 125
041 | iz g BmEH mEnEEm| RST9 24240 | 25.6 g nd 3 4
. ZEX " BHEEER 125
042 | s BV |pmnam| R7T9 34248 | 233 g nd 3 4
, ZEX BEEER 5 125
043 | = 5o 54002 HH EEnEsEm| RST6 HE 24.4 g nd 3 4
, ZERX BEZER _ 125
1044 | o Baami FEEF |pmipats| R3T5 3-4 25.8 g nd 3 4
ZERX PRYE (HEEES TLAI— 125
°008| rmEma-18-1 |mMESKE | EEEER| O Lo |23 %@ nd S
BLEbhEE:
= =2 4L = I
T UERR) *HEHEER  nd: B TIRELLT AREASMAATE
X2 CUEAE) 1:70749AR 250 TAR 3:BRAE B 200-3294
XIGHEES) 1:BHIE 2:HEBA-AE S cEPEER 4 BFEESORKER 5 HIAXE




